Advanced Metering Interim Solution Use Cases
Error Codes
	Error Code
	Error Description
	How MRE should interpret this error 
	How MRE should correct this error and any DATA ELEMENTS provided

	00
	Data loaded successfully
	Data record completed successfully within ERCOT’s system.


	No corrections needed.

	01
	Mandatory data element missing
	Data cannot be loaded because a mandatory data element is missing.

	Correct data record and resubmit.

	02
	Value is invalid.
	Value provided is not valid for the element it is provided in.
	Correct data record and resubmit.

	03
	Value is not formatted correctly
	Data record contains an element that is incorrectly formatted.
	Correct data record and resubmit.

	04
	ESI ID does not exist.
	There is no record in ERCOT’s system of the ESIID contained in the data record.


	Research required by TDSP before submitting data record where no ESIID exists in ERCOT’s system. Data corrections/transactions should be submitted through the appropriate channel to correct. 



	05
	Data sent does not coincide with current ESIID history record

	The ESIID exists in ERCOT’s system but the STARTTIME of the usage being sent in the data record is not contained in ERCOT’s records for this ESIID service history.


	Research required to determine if the STARTTIME of the usage record or of the ESIID is incorrect. Data corrections/transactions should be submitted through the appropriate channel to correct. 



	06
	Sender is not the owner of ESIID (Incorrect MRE-DUNS)


	The ESIID exists in ERCOT’s system but it is serviced/owned by different MRE entity.


	This MRE should not attempt to resubmit this usage data record.



	07
	Data record STARTTIME occurs after or is equal to transaction STOPTIME


	In ERCOT’s system, STOPTIME of the data record must always occur after its STARTTIME.


	MRE should submit data record where STOPTIME occurs after its STARTTIME.



	08
	Data record does not conform to system standards


	The data record received by ERCOT’s system could not be processed as it is formatted incorrectly.


	Contact ERCOT for details.




MRE should resubmit data record for the same period which contains X number of non-missing interval values. This expected number will be found in DATA1 field.

	DATA1 will contain the number of intervals expected by Lodestar for this data record.



	10
	Total usage is over allowable threshold


	Total usage value exceeds allowable threshold specified by ERCOT and/or market participants.


	MRE needs to resubmit data record so that Total usage value is consistent with what is expected by ERCOT.  ERCOT will indicate the average daily usage (ADU) value in DATA1 field as determined by the total usage supplied divided by the number of days in the read.  The upper limit allowed by ERCOT for ADU values is provided in DATA2 field.



	11
	Total generation is over allowable threshold
	Total generation value exceeds allowable threshold specified by ERCOT and/or market participants.
	MRE needs to resubmit transaction so that the total generation value is consistent with what is expected by ERCOT.  ERCOT will indicate the average daily generation value in the DATA1 field as determined by the total generation supplied divided by the number of days in the read.  The upper limit allowed by ERCOT for average daily generation values is provided in DATA2 field.

	12
	Negative usage found

	Negative usage has been found with in the data record submitted 


	MRE needs to correct all negative usage values and resubmit the data record. 

DATE1 field will be populated with the interval time stamp of the most extreme minimum value.  Please be aware that more negative values may also exist.  Error will only identify the most extreme negative value.





	13
	Data does not contain a whole (24 hour) day.


	IDR data submitted does not contain a whole (24 hour) day, which causes partial day estimation for settlements.


	MRE should resubmit usage data in whole day cut.



	14
	ESIID not setup to receive IDR DATA


	The ESIID exists in ERCOT’s system but the channel/recorder does not exist.


	TDSP should verify Profile Code has a metertype of IDR for period of usage. If metertype is not IDR, TDSP should submit an 814_20 Profile Code update.  If metertype is IDR, TDSP should contact their Retail Account Manager.



	15
	Generation value for specific period was not expected but submitted.


	ESI ID is not set up to receive generation data.
	MRE should submit transaction for which usage starts on DATE1.


DATE1 is the STARTTIME of the profile causing the error.

DATA2 <profile associated with ESIID for specified time period.



	16
	Timestamp of transaction is less than or equal to the timestamp of loaded data
	The submitted transaction did not overwrite the loaded data because the timestamp of the submitted data was not greater than the timestamp of the loaded data.
	No corrections needed.
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	High Level Description
	ERCOT performs data content and business validations on each data record submitted prior to loading the data.
ERCOT will generate an extract for the TDSP to indicate which data loaded successfully and which data failed to load (for content or business validations).


	Requirement
	BR-001.01:  Ability for the TDSP to send and ERCOT to receive a file size of up to 50,000 transactions (1 or more ESIIDs per file with no less than a complete day’s worth of 15 minute usage data for each ESIID included in the file, including zero fills, if necessary in the event the power is off and there is Nothing to read – cannot send null)).

BR-001.04:  Ability for the TDSP to create an LSE file that includes one header record for each complete day for each ESIID in the file (this does not preclude including multiple days for an ESIID in the file as long as each complete day has a unique header record).

BR-001.05:  Ability for ERCOT to perform a validation on the LSE file received from a TDSP to ensure that the LSE file can be attempted to be loaded into ERCOT systems 

Note: The validation is not at the transaction posting level. It is at the file level.
BR-001.06:  Ability for ERCOT to notify the TDSP if there is an instance that the LSE file cannot be read.

Note: The notification is not at the transaction posting level. It is at the file level.
BR-001.07:  Ability for the TDSP to send to ERCOT load and generation KWH data values with 3 significant digits to the right of the decimal.
BR-007:  Ability for ERCOT to perform business validations pertaining to the loading of the 15 minute interval data at ERCOT (e.g., is the ESIID really owned by the TDSP who sent the LSE file, etc.). 

BR-007.01:  Ability for ERCOT to generate a notification to the TDSP that data loaded successfully, in a report
BR-007.02:  Ability for ERCOT to generate a notification to the TDSP that data did not load successfully, in a report:

· ESIID does not exist

· Sender is not the owner of the ESIID

· ERCOT is the Meter Reading Entity (MRE)

· Transaction start time occurs after or is equal to transaction stop time
· Incorrect interval status/Missing interval status 

· Transaction must be for one complete day containing 96 intervals and 92 or 100 for DST days 

· Data does not contain a whole day starting at 00:00:00 and ending at 23:59:59  

· Negative usage

· ESIID not setup to receive interval data <TDSP must submit an IDR meter type profile code change prior to sending interval data>

· The profile code meter type is not IDR.

· No more than 3 significant digits to the right of the decimal 


	Definitions
	Term

Definition

Transaction/Data Record
One set of header and detail rows.  A data record contains the 15 minute interval data for one ESI ID for one operating day.  The terms transaction and data record can be used interchangeably.

File
The transactions or data records that are submitted together in one file.


	Pre-Conditions/Trigger
	1. TDSP submits a file to ERCOT using the NAESB protocol. 
2. ERCOT receives the file.

3. ERCOT sends NAESB acknowledgement of receipt.

4. TDSP receives NAESB acknowledgement of receipt.



	Scenario 1:  One transaction loads successfully.
	1. ERCOT validates the file.  File contains one data record.
2. The data record passes the data content validations.

3. The data record passes the business validations.

4. Data loads successfully.

5. Extract shows that data record was successfully loaded.



	Scenario 2:  Multiple transactions load successfully.
	1. ERCOT validates the file.  File contains multiple data records.  Each data record has the appropriate header and data rows.

2. Each data record passes the data content validations.

3. Each data record passes the business validations.

4. All data records load successfully.

5. Extract shows that all data records successfully loaded.



	Scenario 3:  One transaction in a file fails validation.
	1. ERCOT validates the file.  File contains multiple data records.  

2. One transaction contains a content error.  As soon as the error in that data record is found, validations on that data record stop.
3. Validations continue for the rest of the data records.

4. The remaining data records pass content and business validations.

5. All remaining data records load successfully.

6. Extract shows the one data record that failed and provides information on the type of error.  The extract shows that all other data records from the file successfully loaded.



	Note:
	The examples below do not attempt to cover every variation of valid and invalid rows.  These are just a few examples for illustrative purposes.


	Header Row One
Examples of valid rows
	All elements in header row one are mandatory.
Valid example for load – 

00000001,100000000000000,4,20080510000000,20080510235900,Y,N
Valid example for generation - 

00000001,100000000000000,1,20080510000000,20080510235900,Y,N



	Header Row One

Examples of invalid rows
	These rows will cause the entire data record to fail – 
00000002,100000000000000,4,20080510000000,20080510235900,Y,N
(incorrect sort code)

00000001,100000000000000,4,20080510000000,20080510235900
(missing last 2 elements)

00000001,100000000000000,,20080510000000,20080510235900,Y,N
(missing channel)
00000001,100000000000000,,20080510000000,20080510235900,Y,Y
(final element must be N)

00000001,100000000000000,4,20080510000000,20080509235900,Y,N
(stop time prior to start time)



	Header Row Two

Examples of valid rows
	Example of a valid row two with default values in all optional elements 

00000002,0,0,0,,0,,900,01,1,-1,0.0,0.0,CST

Example of a valid row two with all optional elements left blank.  Correct number of commas is maintained.

00000002,,,,,,,900,01,,,,,CST



	Header Row Two

Examples of invalid rows
	These rows will cause the entire data record to fail – 

00000002,0,0,0,0,0,0,900,01
(missing final elements in row)

00000002,,,,,,,600,01,,,,,CST
(incorrect seconds per interval)
00000003,0,0,0,0,0,0,900,01,1,-1,0.0,0.0,CST
(incorrect sort code)


	Header Row Three

Examples of valid rows
	Both elements in header row three are mandatory.

00000003,UNIQUETRANID0123456789



	Header Row Three

Examples of invalid rows
	These rows will cause the entire data record to fail – 

00000003,
(missing second element)
00000002,UNIQUETRANID0123456789
(incorrect sort code)
00000004,UNIQUETRANID0123456789
(incorrect sort code)



	Header Row Four

Examples of valid rows
	All elements in header row four are mandatory.

00000004,20080511220000,Z



	Header Row Four

Examples of invalid rows
	These rows will cause the entire data record to fail – 

00000004,20080511220000,A
(incorrect origin)
00000004,20080511220000
(missing origin)

00000004,,Z
(missing timestamp)

00000005,20080511220000,Z
(incorrect sort code)


	Header Row Thirty

Examples of valid rows
	All elements provided.

00000030,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,Sender=666666666,Receiver=183529049,REP=111111111

CR DUNS not provided

00000030,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,Sender=666666666,Receiver=183529049,REP=



	Header Row Thirty

Examples of invalid rows
	These rows will cause the entire data record to fail – 

00000030,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,Sender=666666666,Receiver=183529049,
(missing final element)

00000030,ATTRIBUTE_VALUE_PAIRS,MRE=,Sender=666666666,Receiver=183529049,REP=111111111
(missing MRE DUNs)
00000030,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,666666666,Receiver=183529049,REP=111111111
(missing Sender= in front of DUNS)
00000030,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,Sender=666666666,Receiver=666666666,REP=111111111
(receiver DUNS must equal ERCOT)
00000005,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,Sender=666666666,Receiver=183529049,REP=111111111
(incorrect sort code)
00000030,,MRE=666666666,Sender=666666666,Receiver=183529049,REP=111111111
(missing the ATTRIBUTE_VALUE_PAIRS designation)
00000030,ATTRIBUTE_VALUE_PAIRS,MRE=666666666,Sender=666666666,Receiver=183529049,
(REP= is mandatory, even if the DUNS is not provided)


	Detailed Record

Examples of valid rows
	Example of 4 actual reads

10000000,68.29,A,,69.17,A,,67.99,A,,67.99,A,,

Example of 4 estimated reads

10000001,66.81,E,,66.52,E,,67.11,E,,67.11,E,,



Example of mixed actual and estimated reads

10000003,67.11,A,,66.52,A,,66.81,E,,66.82,E,,




	Detailed Record

Examples of invalid rows
	These rows will cause the entire data record to fail – 

10000000,68.29,A,,69.17,A,,67.99,A,,67.99,A,,

10000000,68.29,A,,69.17,A,,67.99,A,,67.99,A,,

10000000,68.29,A,,69.17,A,,67.99,A,,67.99,A,,
(all detailed rows have same sort code)
10000000,68.29,A,69.17,A,67.99,A,67.99,A,
(extra comma for the empty value missing)
10000000,68.29,A,,
10000001,69.17,A,,
10000002,67.99,A,,
10000003,67.99,A,,
(each detailed row has only one read)
10000000,.2948,A,,.17,A,,.999,A,,.9,A,,

(more than 3 digits to right of decimal) 

10000004,68.29,A,,,A,,,A,,67.99,A,,

(missing intervals)

10000005,68.29,A,,,,,,,,67.99,A,,

(missing intervals with no status code)
10000001,66.81,X,,66.52,Y,,67.11,Z,,67.11,9,,
(invalid status codes)



